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More 7.6 Solving Log Equations

Property of Equality for Log Equations:
It b, x and y are positive, b = 1
then logyx = log,y tfand only1if x =y
&b Sb) . )

Example: log,x = log,7

x= 3
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Example: logy(2x + 8) = logy(6x — 12)

XA = bx-12

20 < H¥
S = X




Example: log,(3x — 2) =2 SJFL\ N oia OCS Foc e
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Example: logs3x + logg(x — 4) = 2 S

Shacke 102
[03(, SHx) =2 e

41: 3W{L’\l>(
3= 3% 11X

O = OSx*-12x-36
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A#33 pg 5194 —20 even, 25 — 43 odd

SOLVING EXPONENTIAL EQUATIONS Solve the equation.

8, 5 %=25""F 4, 7N = g9t 5. 8% 1=g2k-?

6 279~ 1=pg¥*8 7. 435 =64 I Tagid-u

9. 361 2= (117" 10, 107 W = |fﬁ:“"" 1, 25" 0= o
SOLVING EXPONENTIAL EQUATIONS Solve the equation.

12, 8° =20 13. e *=5 14. 7 =18
@ 117 = 33 16, 7" =12 17, 4e > =17

18. 10" +4=9 19. -3 +16=5 20. 0.5" - 025 =4
SOLVING LOGARITHMIC EQUATIONS Solve the equation. Check for extraneous

solutions.

24
26
28
30

. log_ (5x + 9) = log_ 6x
In(x+19) = In (7x — 8)

. log (12x — 11) = log (3x + 13)
. log, (3x — 10) = log, (14 — 5x)

25

. ndx -7 =In(x+ 11

27. log, (2x — 7) = log, (3x - 9)
29. log, (18x + 7) = log, (3x + 38)

31

. log, (5 — 12x) = log, (6x — 1)

EXPONENTIATING TO SOLVE EQUATIONS Solve the equation. Check for

extraneous solutions,

32, log, x= -1

34. 1 log, 12x = 2

36. log, (x—4) =6
. log, (=x) + log, (x + 10) = 2
4In(-x) +3 =21

42. log 3x +log . (x-1) =3

33. 5lnx =35

@ 5.2 Io& 2y = 16

37. log, x + log, (x —2) =3

39. In(x+3)+Inx =1

41. lngh (x + 4) + Iugﬂ (x+1)=2
43. log, (x - 9) + log, (x - 3) = 2




